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Question |

yoli=)l )7 Order of the elements

The order of elements in the modern periodic table is S | A Maling Enaall (5 el Jgeall B uabisll i
based on an element’s..................... )

name =31 O
atomic number G O
chemical symbol ettt 308 O
atomic mass AT ) o




| UNITED ARAB EMIRATES

i MINISTRY OF EDUCATION ‘1-'-'-'|J-5-0J
duilloy

Question |

yolisll 7,7 Order of the elements

The order of elements in the modern periodic table is RS | R A ey Euaal) (8 gal) Jgaall B jaliell s
based on an element’s..................... )

name N1 O
atomic number (S s (V
chemical symbol Sttt 303 O
atomic mass (AN sand O

Answer:
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Question 2

Which number represents inner transition metals in the Ipsadd ol ol oy A Al Ny i By Gl a3
diagram of periodic table of elements shown below?

£ pualiall (5,00
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Question 2

Which number represents inner transition metals in the | PEENURIP S S G ST IVETEL B e RCR P L PR - Y
diagram of periodic table of elements shown below?

£ pualiall 15, 00

Answer:
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Which element similar in chemical properties to the

A ASY) il A juale Al alsdl B LS palie (g
element have the electron configuration?

[He] 2s? 2p°

An element located in block S S panall b ads (M yuaic

An element located in period 2 2 5yl 5 Ak ()l yeale

An element located in block p

P aenall (i g o) st

An element located in group 17

O O O O

17 degandl b gy G yeaic
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Question 3

Which element similar in chemical properties to the

e A QAN A jale dutliall Galsdll B 4Ll paic (4
element have the electron configuration?

[He] 2s2 2p®

An element located in block S

S panall b ads (W jumic O
An element located in period 2 2 Bypall B ads () juaie O
An element located in block p P perall 4 ak gill yaic O

An element located in group 17

17 degand g i G jeaic \9/

Answer:
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Which block that element have the electron e AL (g A1 Qi Al 53 jealal) 4B Al (G31 pana (gl

configuration is located in it?

[Ar] 4s? 3d!

Block f peadd O
Block S S ganall O
Block d d aapall O
Block p P aanal O




Question 4 e

Which block that element have the electron e AL (g A1 Qi Al 53 jealal) 4B Al (G31 pana (gl

configuration is located in it?

[Ar] 4s? 3d!

Block f peadd O
Block S S ganall O
Block d d aapall D({
Block p P aanal O
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Question 5 Ly
What is the number of valence electrons Folial Al A panall palis A aalyS SN B il S8l s L
in the elements of the group shown down?
graup 17
:i::l:
‘B
i
T O
1 O
8 O
17 o
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Question 5 Ly
What is the number of valence electrons Folial Al A panall palis A aalyS SN B il S8l s L
in the elements of the group shown down?
graup 17
:i::l:
‘B
i
T O
1 O
8 O
17 o




Question 6 )
Which electron configuration represents the highest first fl e o g g S ol
ionization energy?
[He]2s® 2p 0
[Ha]2s! 0
[He]2s 2p O
[He]2s? 2p* 0
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Which electron configuration represents the highest first f s ol o g o S0
ionization energy?
[Hel2s* 2p° ',
[Hel2s! O
[He]2s? 2p! O

[He]2s® 2p* 0
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Why atomic radius generally increases as move down a group? Ao pana (o A JALY JEIY) aie AN UEYY Cilasl sly3s Vil
E} v e l.'glmlmsalr:mbel "
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o 00 e eo00e
®
Because the principal energy level remains the same et el A gies ol e O
EBecause the valence electrons are farther from the nucleus il e SN by S0 A Slo) ca O
Because the decreasing positive charge in the nucleus Syl Al o lacl 4igess o)
Because the valence electrons are closer to the nucleus Bl e SRS lip 280 aE SLadl Can O
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Why atomic radius generally increases as move down a gronp? fae pana g Joa ALY ST e LA U Ciladl sl 1AL
o 1 ateap Chemical symbal
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Because the principal energy level remains the same s el 35D s el e O
Because the valence electrons are farther from the nucleus el e SN iy 2SN ey sl i L/@/
Because the decreasing positive charge in the nucleus Bl Lk oleali s O
Because the valence electrons are closer to the nucleus Bt e RSN iy €N o LY O
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Question 8

Which of the following diagrams correctly shows the trend of Prgmn iy bl Aplludl o g 4PN Silbaial ,J,-I

electronegativity?
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Question 8

Which of tha following diagrams correctly shows the trend of Trea S 5,;1..“,‘51; oalleall E5 O a0 ki L‘.;'E

electronagativity?
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Question 9

colial Jeai (o Oah g gpeasiiall S a3l

fha paldl) Ol agmadiall & 5% RS

The orbital notation of Magnesium is shown in the figure

below. How does Magnesium form its ion?

Tl

Lose four electrons

Gain one elactron

Gain two electrons

Lose two electrons
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| MINISTRY OF EDUCATION Question 9

colial Jeai (o Oah g gpeasiiall S a3l

fha paldl) Ol agmadiall & 5% RS

The orbital notation of Magnesium is shown in the figure

below. How does Magnesium form its ion?

Tl

Lose four electrons

Gain one elactron

Gain two electrons

Lose two electrons
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Question

electron configuration of phosphorus atom is: 1s?2s22p®3s23p? 1522522p%3s%3p3 1 50 ) shuustll BAN 9 50y el
when phosphorus atom gains 3 electrons, ¢ P37 mibogdl G 098t g 8N 3 shugill B e Ladic

- - 3_ -
phosphide ion P’ is formed @ P ool g:'JJm?" il L

what is the electron configuration of P*~ 2
1s22522pf3g?
1s?2s"2p®3s73p®

1s%25?2p%3s23p¥45?

O O O O

1s%28?2pf3s23p3
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Question =

electron configuration of phosphorus atom is: 1s?2s22p®3s23p? 1522522p%3s%3p3 1 50 ) shuustll BAN 9 50y el
when phosphorus atom gains 3 electrons, ¢ P37 mibogdl G 098t g 8N 3 shugill B e Ladic

- - 3_ -
phosphide ion P’ is formed @ P ool g:'JJm?" il L

what is the electron configuration of P*~ 2

1522522p8 352 O
1s%2s22p53s%3pS \/d
1s?2s?2p%35%3p*45? O

1s%28?2pf3s23p3
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Question | |

What is the formula for a compound formed by O O3 S ddaa La

aluminum ions, Al**, and the phosphate ion, PO, 7 i
' phosp S ¢ PO il O galy APT agaialdt) gl

Al P00y
Al POy

Al;POy

O O O O

Als(POs)
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Question | |

What is the formula for a compound formed by O O3 S ddaa La

alumi ions, AI**, and the phosphate ion, PO, 7 i
Hminam ' phosp S ¢ PO il O galy APT agaialdt) gl

Al P;0y O

Al PO, m

Al;POy

O O

Als(POs)

Answer:
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Question |2

P = = =s b ]1] --.'.Ii! PR
Why Jonic compounds in solution and in the liquid state Folugstl Blias paciibtAlady | sl lifall R

are excellent conductors of electricity?

Because afiractive forces available Alledll 2all (558 B8 e O
Because motion of charged particles are locked g liall il A5 A8 G O
Because no charged particles available Agada ciliia 38 et i O
Because freely moving charged particles gadiall il A5l e Cazw O
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Why Ionic compounds in solution and in the liguid state e Yliaa 94 ALl Allally g sl b S il
are excellent conductors of electricity?
Because atiractive forces available Al (sl g B G O
Because motion of charged particles are locked gl ciliiall i A5 G O
Because no charged particles available Rigata cliie i e Gl O
Because freely moving charged particles Dgadiall cliiall Al e Lz \m
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Which of the following names does NOT match the aalal Augaal) AdlaasSh! Adseall Gl Y ol La awid r.fﬁ
chemical formula written in front of it?

Sodium hydroxide NaOH NaOH g0 gall 208 g joua O
Ammonium sulfide (NH4)2S (NH4),S a 52 gatl 2y € O
Calcium chloride  CaCl CaCl; gmalSll 3y 5518 O
Sodium bromide = NaBrO; NaBrQ;  ppdgall iy O
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